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1. Fill up the necessary information on the cover of Question Booklet and the OMR Sheet before commencement of the test.
2. The duration of the Paper-I is 60 minutes. Check for completeness of the Question Booklet immediately after opening.
3. There are 35 objective type questions in Paper-1 (Part-A and Part-B).
4. Part-A contains 20 questions. Each question has FOUR options (1), (2), (3) and (4). ONLY ONE of these four options
is the correct answer. For each question, choose the option corresponding to the correct answer.
5. Answer to each question will be evaluated according to the following marking scheme:
Full Marks: +1 If ONLY the correct option is chosen;
Zero Marks: 0 If none of the options is chosen (i.e., the question is unanswered);
Negative Marks: —0.25 In all other cases.
6. Part-B contains 15 questions. Each question has FOUR options (1), (2), (3) and (4). ONE OR MORE THAN ONE of

these four option(s) is (are) correct answer(s). For each question, choose option(s) corresponding to (all) the correct
answer(s).

Answer to each question will be evaluated according to the following marking scheme:

Full Marks: +2 If only (all) the correct option(s) is (are) chosen;
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PART-A/ A

Directions (Questions 1-20): There are 20 Multiple Choice Questions (MCQs), and each question
carries 1 mark. All questions are compulsory.

e (war 1-20): ¥ 20 =15 Jepfoush e (MCQS) &, T e W5 1 31eh o1 5| avit war S1famd &)

1.

Who is the author of the play "Hayavadana™"?

(1) Badal Sircar (2) Vijay Tendulkar

(3) Mahesh Elkunchwar (4) Girish Karnad

BTG T o TREh i & 7

(1) TG TR (2) T g (3) WRw TSR 4 fiwrete

Who is the author of "Ret Samadhi” (Tomb of sand) which won the International Booker Prize for
20217

(1) Geetanjali Shree  (2) Mannu Bhandari ~ (3) Shubha Dwivedi  (4) Krishna Sobti

T FHT (ST ST UUS) & TEh i &, T 2021 9 fTT, ST Jo e Siar a7

(1) sttt = (2) W= ST (3) 37T et (4) T HIet
Which duo directed the 2022 film "Everything Everywhere All At Once™?

(1) Daniel Kwan — Daniel Scheinert (2) The Coen Brothers

(3) Phil Lord and Chris Miller (4) The Wachovskis

fore STIET 7 2022 i fhew "wardifein waier e we 99" @ e foram om?

(1) e T - sfae i (2) T I FeH

(3) Tt <ite ot fopwr e (4) TraaEht

Which Indian Institution is promoting dance, drama and music?

(1) Sahitya Akademi (2) Sangeet Natak Akademi
(3) National Institute of Indian Classical Dance (4) None of these

I HT AT T, T, e ST Hd T SgTar < W 27

(1) TTfEeT STeRTeHT (2) G A1eeh STeRTeHt

(3) TS AT TR T S (4) TTHY FIZ T8l

Which of the following countries is not a part of NATO?

(1) Canada (2) France (3) Ukraine (4) Belgium
FrefaRaa & & ot a1 3 e o fowar 72 27

(1) TS (2) % (3) T (4) dfeseEm
Which film is India's official entry to the 95" Academy Awards?

(1) Kantara (2) Ponniyin Selvan-1  (3) RRR (4) Chhello Show
WA 3T i T e T 953 STehTGHT qUERRT 7 ST WAy 87

(1) SHiarr (2) f=RA gereH-1 (3) FRIARIAR (4) ST
Who narrates the climactic battle of Mahabharata to Dhritarashtra?

(1) Karna (2) Sanjay (3) Dronacharya (4) Vidur
A T HETHI oh SRATCEHY I3, T U i AT 87

(1) =0t (2) "= (3) st @) fag
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8.  The 'National Centre of Excellence for Animation, Visual Effects, Gaming and Comics' is to be set
up by the Ministry of Information & Broadcasting in collaboration with

(1) II'T Madras (2) I'T Bombay

(3) Jawaharlal Nehru University (4) Savitribai Phule Pune University

T HIT AR HAT SR % TRAN | T, fas[erer shaed, T iR ifie o fog T
IHEAT g T fRaT ST R |

(1) LT HETH (2) IS STy

(3) STaTetenTe Je% faafmmer (4) HiesitaTs Bt vyt fafermer

9.  When is Raag Bhairavi traditionally rendered during a concert of Indian classical music?
(1) For offering prayers at dawn.
(2) Depends upon what time of the day the concert is taking place.
(3) At the end of the concert.
(4) At the beginning to establish the mood.
AT TR St o TTitd aoTe § qTiafies €9 & T S} oher 7T ST 27
(1) T H yrefr o o for |
(2) 7= ffvear 2 & foT & for o wrfia wfspr BT TR |
(3) G SRlsFA o A T |

(4) IO H AR a4 o T |

10.  Which pen name does J.K. Rowling use for writing crime fiction?
(1) Shelley Smith (2) L.R. Wright (3) Jan Burke (4) Robert Galbraith
.3, TafefTr 3oy R fore o fore fomer O e ot Sy e 87
(1) srft fager (2) TR, TS (3) S &Hh (4) T Terstyr

11. Which of the following tennis tournaments does not come under Grand Slam?
(1) Australian Open  (2) Davis Cup (3) Wimbledon (4) French Open
ol & & & a1 e gAtve I o o Siata 81 AT e’
(1) ST e (2) 2foa e 3) TaweT (4) e ST

12.  Which Indian television show has a record of the longest (111 minutes) single-shot episode?
(1) CID (2) Malgudi Days (3) Kal Alavu Mahasu (4) Nokkhotrer Raat
Torer vt eftfers s ok e were e (111 iae) fener-site it o fenre 77
(1) Hremset (2) ATHET S (3) TS T HEH. (4) ARG T

13.  Which of the following statements about Doordarshan is not true?
(1) Itis an autonomous Public Service Broadcaster founded by Govt. of India.
(2) Itis one of the two divisions of Prasar Bharati.
(3) Itis solely dedicated to news and views.
(4) Itis one of the largest broadcasting organisations of India.
Trefetiiaa & & i |1 e el o fower # oo 7t 27
(1) T8 TR TR T TS Tk TR A1k BT T ¢ |
(2) TR TR AT H AT T H T TFH § |
(3) == T TR & R i Rt i for wma R |
(4) I8 YIRT o GaH IS THR SIS H 6 Th 7 |
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14.

15.

16.

17.

18.

19.

20.

With reference to colour theory, choose the correct complementary pair from the following :
(4) Green - Cyan

(1) Red - Cyan (2) Green - Yellow

(3) Red - Magenta

e 35 et & Frerferfie W) e 7 o S BT

(1) ot - T (2) & - el

(3) QAT - Bsier (4) = - fomm

The National Book Award 2022 for Young People's Literature was awarded to

(1) All My Rage — Sabaa Tahir
(3) South to America — Imani Perry

FaT AR o HTfecd oh foIe Ty qeaes TUeehit 2022

(1) ST TS I - |l ATl
(3) |TIA T STHTERT - SATT UL

"IPR" stands for

(1) Intellectual Property Rule

(3) Intellectual Property Reservation
"SI T ST 7

(1) STEAFLT NIl A

(3) TS HI9et v

Which country will be hosting G20 in 2024?

(1) India (2) Argentina
I TS 2024 7 G20 WS FHET?
(1) wma (2) ¥

Teleprompter is a device to
(1) prompt a TV set.

(3) project anchor script.
ATt Teh TR B ST

(1) Tk 1t T T Hoh TR |

(3) TSRt ol TearaT TEQT AT 2 |

Who won the FIFA 2022 World Cup in Qatar?

(1) ltaly (2) Brazil
FHal § HIHT 2022 forg oy femer sfrar?
(1) st (2) siTsfter

What is 'Deferred live'?

(2) The Rabbit Hutch — Tess Gunty
(4) Seven Empty Houses - Samanta
EIRHERERIRIRI

(2) Mo e= - @Y

(4) | U BSH — WA

(2) Intellectual Property Right
(4) Intellectual Property Remuneration

(2) FTEAFLHAT WU T5e

(4) eSS TII2T W

(3) Indonesia (4) Brazil
(3) M (4) sTsfte

(2) subtitle the prompting.
(4) transmit telepathy.

(2) Hohd T IUIMTH GATR |
(4) htteft g AT ® |

(3) Argentina (4) France

(3) TSt (4) i

(1) ltis a term associated with broadcast delay.
(2) Itis a term associated with bank transaction.
(3) Itis a term associated with operation theatre.
(4) None of these

Tewe omga = R?
(1) o TER faeie § T oea 2 | (2) ¥ o % -7 § [STIER S |
(3) 7' SR R A e e 7 | (4) TTH A HE T
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PART-B/ B

Directions (Questions 21-35): These questions are Subject Specific. There are 15 Multiple Select
Questions (MSQs), and each question carries 2 marks. Each question has four answer options and
question may have one or more than one correct answer options. All questions are compulsory.

fAor (sror 21-35): 2 war, ferrer farfare %1 goe 15 g Senfoaes == o7 (MSQS) 2, 7% wedier W, 2 3ieh o7 81 Wik 99 &
TR I Torshed & ST T o Ueh IT Ueh © 3ATeIeh, Ta! I [oIohed &1 Tohd 2| T3t 3 e 8

21. Choose correct option(s)
The term 'magic hour' means
(1) an hour of time period for showing magic.
(2) the time period of dawn and dusk.
(3) the time period of night under full moon.
(4) the time period just before sunrise or just after sunset.

T forsrea/fasmedi 1 T

‘BfSten S1TeR’ wTeg T o7 7

(1) =g femm o foru weh e sht et | (2) R TR e o o |

(3) fotaT o S T Bt T | (4) Fiea & Stk vae AT YA % Sl 1S ! FHAETY |

22. Choose correct option(s)

A true 4K image means the

(1) resolution of the image is 4K.

(2) resolution of image is UHD.

(3) pixel distribution is 4096 x 2160 for a frame.

(4) pixel distribution is 3840 x 2160 for a frame.

REIRECISECTSICRCIE I

T g 4K g R 7ol -

(1) Titegem s g 3T 4k 7 | (2) Tl A% T T T SR |

(3) ek W\ o Tore, forerrer forawor 4096 x 2160 # | (4) ek hm o T foerrer forawor 3840 x 2160 7 |
23. Choose correct option(s)

If you change camera aperture from /4 to f/2.8, you are

(1) closing the aperture by 1 stop.

(2) opening the aperture by 1 stop.

(3) allowing more light by double than the previous.

(4) allowing less light by half than the previous.

Tt ferered/fospet s g

Ffg 31 e va= ot /4.9 /2.8 7 seer 2, ar et

(1) Tt l R g e a2 |

(2) e l @M@ R |

(3) = o T H IR & Sfereh WerreT oht SRl ad 2 |
(4) w=er o TAAT H ST 8 W TR hl AR A 7 |

24. Choose correct option(s)
Rainbow always appears in the sky

(1) on the opposite side of the sun. (2) before the rain.

(3) just after the rain. (4) much before sunrise.
e e et a9

TEUTT SHT AT H feE s |

(1) e & farfrr femmr 3| (2) s & et |

(3) @ H @R (4) wates & sga et |
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25. Choose correct option(s)
We use LED lights in our houses and offices. This type of lights are useful over incandescent light
sources, because they
(1) are energy efficient.
(2) are cheaper in terms of price.
(3) remain cool even after prolonged hours of usage.
(4) do not flicker.
He ferhea/ferehed ol Y
B 3T T 3T THA H UASE T TS ohT SEHTS oL & | 8 b Shl UTHT TSRS |Tal 9T YN Bt &, it o
(1) it garet ¥ | (2) FrraFrgfaaa e
(3) e T ek IwRNT o &g ¥t ST TEAT R | (4) femfeamar 7= |

26. Choose correct option(s)
Which of the Exposure values are the same as - ISO 200 f-5.6 shutter speed — 1/500?

REIRECISECTSICRCIE I
i & TgEdtsE 7 - 1SO 200 f-5.6 3rex - 1/500 & & = |
ISO / sTsugst f-stop / TH-ET shutter speed / TreT Tt
(1) 400 5.6 1/250
(2) 200 11 1/2000
(3) 200 8 1/250
(4) 800 8 1/1000

27. Visible light spectrum has/have which of the following characteristic(s)?
(1) Red light has the shortest wavelength.
(2) Blue light has the lowest frequency.
(3) Green light is at 550 nm wavelength approximately.
(4) Violet light has the shortest wavelength.

fafsaret orge Ween o fFrferfiga & @ o o famaar 2/8?

(1) e eRTeT it JeTeteer TeE HH RIATR |
(3) = sreRreT ST 550 THUH AeTRr TR |

(2) et weTeT <Y SHIRITET e &hH B 1 |
(4) Srreft srhTaT ST SERY HeH FH BT R |

28. Diffused light is good for
(1) emphasizing texture of the objects. (2) creating shadowless images.
(3) creating fill light. (4) creating specular highlights.
femrss @mge & T st Bt 2 |
(1) ereqat st sTee TSR o o for | (2) s Tea o o o forer |
(3) fohet @Tse ot TRE SUINT &t o T | (4) TR BTSATEEE S & (o |
29. Choose correct option(s)

A 'silhouette’ is

(1) adark, solid shape of a subject/object seen against a light background.
(2) a posture of an artist in a still frame.

(3) an image which can be created by lighting.

(4) always captured against morning sky.

Tt ferered/foepreat s g

e e = -

(1) wor wehr gmyfir & Teft TRt fower | S 6T TR TR, S TR s 3 |
(2) T&or vhA  WeF AT ol |

(3) wer Sfer ST rhTeT ST ST ST Ehal 7

(4) =T g o ST o Wi TEU AT |

32/E/XXII/ 6



30.

31.

32.

33.

34.

35.

Choose correct option(s)

Ultraviolet rays have

(1) higher frequency than visible spectrum.
(3) shorter wavelength than visible spectrum.
e e et a9

AT feRr BITE |

(1) TerforereT wergm ot T H BT ShiaRHt

(3) TerfTerer wiarg ot QT W 2MEL Aee=o

(2) longer wavelength than visible spectrum.
(4) lower frequency than visible spectrum.

(2) TarfotereT TergA ol Tt H AR deeie

(4) TafsTerer Toargm o6 QT § Qe shiaset

Which of the following is/are digital image file format(s)?

(1) PNG (2) WAW
1 o 9 - fefsesd i wrea wive 2727
(1) e (2) sseussey,

Choose correct option(s)
An 'Exposure meter' is used to measure

(3) JPEG (4) RPG

(3) sidtestt (4) smeftstt

(3) shutter speed. (4) reflected light.

(1) 1S0O. (2) incident light.
T oo faeredt 1 g

AT & AT Uk ‘TSt #ied st SaiT foR ST R
(1) sméuast (2) sFee=ame (3) mrexwdts

(4) frpeifoes Amge

Which of the following colour temperature(s) is/are used for indoor as well as for daytime exterior

videography?

(1) 3200 degrees (2) 5600 degrees

(3) 7200 degrees (4) 1200 degrees

Frafafad & o 9 9178 et SRR TS & aro-are fo & a0y sedt ifeanumdt o fore 3w fore s 872

(1) 3200 fesfr (2) 5600 et

Choose correct option(s)

(3) 7200 fesfr (4) 1200 st

Light is falling on an object from a light source. If the distance between a light source and object is

doubled, then the intensity of light falling on object will become

(1) three fourth (2) one fourth

(3) half (@) dduble

RIS HT § TerefT o] o SehTeT U LT 1 Al feheft SrehTaT BT ST o o sfi=r ekl gt QT ot <1 ST, At a1 X g

T& oo/ faeeat s gfT
1A TehTST oY terar B STt
(1) < =g (2) we =erd

(3) et (4) gt

D

With respect to frame orientation, which of the below stated line/lines is/are true?

(1) Instagram frame is horizontal
(3) Instagram frame is vertical

(2) TV screen frame is horizontal
(4) YouTube frame is vertical

T SR o il H, i< & 75 Uil § 9 i o 8wl o / 87

(1) Seemm wy &fasi 2 |
(3) Seemmy h e R |
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10.

11.

12.
13.

Partial Marks: +1.5 If all the four options are correct but ONLY three options are chosen;

Partial Marks: +1 If three or more options are correct but ONLY two options are chosen, both of which are correct;

Partial Marks: +0.5 If two or more options are correct but ONLY one option is chosen and it is a correct option;

Zero Marks: 0 if none of the option is chosen (i.e., the question is unanswered).

Negative Marks: —0.25 In all other cases.

In case of ambiguity in translation, English version will be deemed authentic. Rough work to be done on Question
Booklet.

Obijective type Answers are to be marked on the OMR Answer-Sheet, which is provided separately.

Use only Blue/Black Ball Point Pen to darken the oval(s) for answering.

. Once oval(s) is/are darkened as answer to the question, it is final. Answer option(s) once darkened cannot be changed.
. Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question

Booklet or part of it outside the examination hall.

. The right to exclude any question(s) from final evaluation rests with the testing authority.
. Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

TS I B IR T IRAeT o e 31T STTAST Tie IX Tarwdeh STHah Wi

U | 6t AT 60 Te 71 e qRaRT @ 3 L STE SHen! quidT shi St o

YUT-| (W, ST AT 7 35 TS T ¥ E

WAT-T ® 20 T 1 T3 T & 91 faohed (1), (2), (3) 3T (4) Bl 37 91 foreredt § 9 Shelel T & 961 ST 28l TAF
W o ToT Hel I o SITE foshed ol =12 i

T 4 o 3L ol Ao (ITTRaa Sfeh ATST o S| T ST

qut 37 +1 I et Tt forehed AT TR,

T 37k 0 Fle g W ferencd &t 7 7T B (319d, T IR ®);

TR 3{eh: -0.25 =7 Teft oyt ||

TET-at § 15 T2 Bl T T & 91 faamed (1), (2), (3) 3 (4) Bl 37 =R fshedl & 6 Tk 7 Uk o 377eeh T8 S
1 et 3 3 forw, (@it Tt S (STt @ Feiftra forereg (et w1 <

FtcTRaa 3ferT FISHT o STHTC T T4 o TR T Hed o (Rl SITT:

qut 37k +2 TS Faet (@) vt foreped (frereah) st T mIT R (),

TR feh: +1.5 Ffa I foered w2 & AfoR shae i forhed < MU &,

TR tep: +1 afe i 1 sferes faere w2t & Tifor share <1 faerer 91 0 &, 511 T ot &

AT 3 +0.5 IS 3 AT A1 & ST [ered Tt 2 Hfoh sharet Tep forehed [T 71T 7 ST I8 Ua aa foohed o

[ ek ( TS opig Wit forshed 8T <A1 TIT © (3791, W ST 2)

TR 3Heh: -0.25 =7 Teft oyt ||

TG H STETEAT o AT H, ST FEeTur Sl TTHTIOTSR HHT ST S5 qRaen! T T e T 2|

TGS TR 3 I TSR -9 X 3o Tory T &, ST 37T & Sqered s Te &

I T oA ST (3T Rl 1T ot o FoT T et t/apTe sitet UTSe U ohT STFT i

T % ST &k €I H U IR ISR (37F) TRl Hretm o feam Simar 2, ar a7 sifom 21 S fashew (foreat) ot o o
SHIAT L o ST TSAT Tal ST HehalT|

39 7 QR AT 36k foRet T et oteT Bfer 3 STET o ST AT o ST ST ST R AT IFHIGER o foeg 37w
fafarer/smafeess wrfaTe i st

ToRwiT +ft war(<TT) =T ST Fearione & STeT ot ST ST HieT TTTUhTt o oTH &

-G TRt o ot it g o Heier o wite dierer W TSTeRtoT o HiFT| 37O T (0T ST SN R

This Question Booklet is to be returned on completion of the test. /
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